4 v KR — 45— 4% W)= SRR e W/ —-SrRukR it W/ —SrRukR it W/ —SrRukR Rt
J 5 v K % RENAULT RENAULT RENAULT RENAULT
£ 5 )12 & kAT £ PR P= I ) kAT AVTFUR FXUNRMT Hhod—Ev
K F 4 h 3 — Tav IIL—IL TI— ATAT5FM JIL—FK5oz TI—aREAM
& & & 5 #3K50593195 1#3E50593196 #3E505%1611 #iE304£7204
£ £ 3,620 mm 3,620 mm 3,620 mm 4,280 mm
2 g 1,650 mm 1,650 mm 1,650 mm 1,830 mm
£ = 1,545 mm 1,545 mm 1,545 mm 1,810 mm
F H E 8 4% 4% 4% 54
= (7] S = 960 kg 960 kg 1,030 kg 1,450 kg
T v v v ®#E B E5I3 KEDOHC 12 /3LT B5I3 KEDOHC 12 /3LT A—RFr—Tr—ft EFI3 KEDOHC 12 /LT A—RFr—I v — RN EEES B4R BDOHC16/ LT
HE K = 998 cc 998 cc 897 cc 1,197 cc
i3 #H i Al TLI7LAVIY TLI7LAVIY TLI7LAVIY TLI7LAVYY
FSYRIYyPay SEMT SEMT 6EEDC 6EEDC
VAN 20NN S | R (VA ¥ F=l F=l FS) FS)
JCOBE—F®E - - 21.7 km/L 14.7 km/L
+7A7 Tk ¥19,440 +JAT7 Yk ¥19,440
*ETC ¥12,960 *ETC ¥12,960 »7O7 vk ¥19,224
*ARX—hTH> HL—RIL ¥5,400 *ARY—hT+> HL—RIL ¥5,400 +JA7 Tk ¥19,440 *ETC ¥12,960
I RTFA T H—ILEUT—) ¥86,400 RTFA TH—IL(UI542) ¥86,400 -ETC ¥12,960 +FE ¥189,000
i FuxL T TL—hk ¥19,440 FuxL I TL—bk ¥19,440 *ARX—hT+> HL—RIL ¥5,400 - EBEME 75— ¥ 19,440
FIY LNk ¥5,940 FIY LSty ¥5,940 CIR—IoY—Fub ¥31,320 “RILFIL—TL—IL ¥40,937
~S)avFx—h/R— ¥1,890 ~S)avFx—h/R— ¥1,890 CIv—YIrY—F vk ¥31,320
Iv—Uxoi—Fub ¥31,320 Iv—Uxoi—Fub ¥31,320
A—H—FLINFEAERE (Fid)
(FTomehd E M) ¥ 1,710,000 ¥ 1,710,000 ¥ 1,990,000 ¥ 2,590,000
T o0 5 — @ B — — N5 #120% + 5 = #1 25%iR Bt -
H R E @ F S R1 R2 R3 R4




